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SH: TR
Hu: AW AT Sers) R (SRHSLN/EY - BE)
Chelr 2 AT |4 o3 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
101 @124H| 29,200 28,500 700
M ORINZZENSES 29,200 28,500 700
OsHYQT QI2H| & HIRES 29,200
202 0o4dl 2,400 2,400
01 =LHOHI 2,400 2,400
TSR i)l g 42 A 2,400
207 ARl 12,000 12,000
03 Al =4I 12,000 12,000
O, Hg, =%, sAHM S 12,000
s DSE ot Ma 4 93,987 133,962 A39,975
IS rEMA Dl R 93,987 88,173 5,814
101 @124H| 58,487 57,173 1,314
M ORIMZZ2NSE S 58,487 57,173 1,314
O=HYQIR QI2H| & HIRE=S S 58,487
201 eer23| 500 1,000 A500
01 AtR2t2|HI 500 1,000 A500
OANRES, HE S 500
202 04| 5,000 3,000 2,000
01 =LHOHI 5,000 3,000 2,000
o|TERFd 5,000
207 ARl 30,000 27,000 3,000
03 Al 328 30,000 27,000 3,000
OA & =XII7 S 30,000
AL 32 251,500 277,500 226,000
A BEEAE 2E 2 251,500 237,500 14,000
201 er2 3| 251,500 237,500 14,000
01 AtR2telHl 27,500 27,500 0
OFEAI 228 2378 & = S 27,500
02 s3=gHl 224,000 210,000 14,000
OsE2=s & AMERNHl S 224,000
HY2AZHI(ATHARA) (DIEH/DIE}) 540,841 496,884 43,957
el 2| 508,745 459,035 49,710
AHHAIE & 508,745 459,035 49,710
101 @124H| 457,483 411,875 45,608
03 SRH(RIH )22 U2+ 457,483 411,875 45,608
oJlz=s 303,627
O== 2,530,225%x10E « 128 303,627
o=g 153,856
od2=+g 1,926, 5002 *50%* 10 <23 19,265
Os4l 140,0002x102+12& 16,800
OuEH| 00,0002 x10& ~ 128 12,000
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